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Instructions: Answer Question One and Any Other Two Questions 

QUESTION ONE (TOTAL 30 MARKS)
a) The allocation of costs is an integral part of Managerial Accounting. Define the term ‘cost centre’ and cost unit. 







(6 marks)
b) Briefly explain three limitations of break even analysis 


(6 marks)
c) The following data relate to Kenya Ltd for the year ended 31 December 1999.

Sh 
Selling price




 36
Variable cost




 24
Total Fixed costs account for sh. 96,000
Budgeted Sales 50,000 Units

Required:

i) Margin of safety.
(3 marks)
ii) Break-even point in sales
(3 marks)
iii) Sales required to earn profit of Sh 8,000.
(3 marks)
d) Explain what is meant by each of the following types of standard:

(i) Basic

(ii) Current

(iii)  Ideal








      (6 marks)
e) Explain what is meant by each of the following process costing terms:

(i) Normal loss






(1 marks)

(ii) Abnormal loss






(2 marks)

(iii) Abnormal gain






(2 marks)

QUESTION TWO (TOTAL 20 MARKS)
(a) Budgetary control is an essential component of good company management.

i. Define ‘budgetary control’.





(2 marks)
ii. Outline three uses for a cash budget.




(3 marks)
A company is planning to manufacture a new chemical for use in the farming industry. The product will be sold for £60 per unit. The company expects the following unit costs to apply to the production of the chemical:

Ingredient 1 0.50 kilos @ £6 per kilo

Ingredient 2 0.75 kilos @ £8 per kilo

Labour 0.50 hours @ £10 per hour

Variable overhead 0.50 hours @ £16 per hour

Fixed overheads are expected to be £15,120 per annum and will accrue evenly over the year. 

Each three month period is assumed to contain the same number of days and production and sales units will be the same for each three month period.

The planned production and sales levels for the first three months of 2014 are expected to be: 

January 
February 
March

Production (units)
220 

180 

230

Sales (units) 

190 

200 

210

The company held no inventory of raw materials or finished goods on 1 January 2014.

Required:

(a) Prepare detailed forecast income statements for the three month period ending 31 March 2014 using each of:

(i) Absorption costing 






(6 marks)
(ii) Marginal costing 






(5 marks)
(b) Prepare a statement reconciling the profit calculated using absorption costing with the profit calculated using marginal costing. 






(4 marks) 







QUESTION THREE (TOTAL 20 MARKS)
(a) The input to Process 3 of Pond Ltd in April 2013 was 8,000 litres of material. Output was 7,600 litres and at the end of the period 400 litres were still in progress. There was no loss in process.

Costs are £32,000 for direct materials, £15,840 for direct labour and £23,760 for absorbed production overhead.

Estimated degree of completion of the closing stock is:

Materials 100% complete

Labour 80% complete

Overhead 80% complete

Required:

(i) Explain the term ‘equivalent units’. 






(3 marks)
(ii) Write up the Process Account of Process 3 for April 2013 using the above figures. (8 marks)
(b) The input to Process B of FAB Ltd in May 2013 was 2,000 units. Normal loss is calculated at 5% of input. Costs of production in May were:

£

Direct materials 
7,400 

Direct labour 

2,600

Production overhead 
5,200

Actual output during May 2013 was 1,780 units and there was no work-in-progress at the end of the month.

Required:

(i) Explain what is meant by each of the terms ‘Normal Loss’ and ‘Abnormal Loss’. (3 marks)
(ii) Write up the Process Account of Process B for May 2013 using the above figures. (6 marks)
QUESTION FOUR 
(TOTAL 20 MARKS)
(a) Explain any Two bases of cost classification 




(5 marks)
(b) Wiser Ltd manufactures and sells a single product. The following budget details are available:

£ per unit 
£ per unit

Selling price 





200

Less:

Materials 



90

Labour 



40 

130
Contribution 





70
Additional information:

1. Budgeted sales units are as follows:

April 

May 

June

3000 

2500 

4000

2. Wiser Ltd operates a Just-in-time ordering system. The stock of raw materials is therefore always zero and sales units are manufactured in the month that they are sold.

3. Raw material purchases are paid for in the month of purchase and labour costs are paid for in the month of production.

4. All goods are sold on credit. Sales revenue is received 60% in the month of sale and 40% during the following month. 

5. Fixed overheads are £75,000 per month including depreciation of £12,000. They are paid for in the month that they are incurred.

6. At the beginning of April, trade debtors will total £160,000. 

7. Overdraft interest of 0.5% per month will be paid in respect of the closing bank balance at the previous month end.

8. The opening bank balance of Wiser Ltd in April will be £200,000 overdrawn. 

Required:

Prepare, in columnar form, a cash budget for each month. The cash balance at the end of each month must be clearly shown. 







(15 marks)





4

